20x% —ax -9 = (4x-3)(5x—b) A W, a + b 9] & Fo}A?

®-3 @3 ®-1  @o ® 1

B

(4x = 3)(5x — b) = 20x% — (4b + 15)x + 3b
=20x% —ax—-9

3b=-9,b=-3

—(4b+15)=-3=-a

a=3

“a+b=3-3=0




2.

ot 5 11 Aol §4] gk AL

D 972 = (100 — 3)% = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x4.9=(5+0.1)(5-0.1) = 52 — 0.12 = 24.99

® 3012 = (300 + 1) = 3002 + 2 x 300 x 1 + 12 = 90601
@ (VI+ VB)(V2- VB) = (VD)2 - (VB)? = -1
@)(-VI0- VB (VI0- 3) = (VIO - (¥ = &

B

® (- V10 - V2)(V10 - V2)
- V2 - VI0)(- V2 + V10)




3. x—47}F R 22 4 ax+40, 3x2 - 10x+ b 8] 521 214 o,
a-b 9 3F& FolH?

@ 3 @ 6 ® 0 @ -3 @—6

B )

x? +ax+40 = (x - 4)(x - 10)

La=-14
3x2—10x+b = (x—4)(3x +2)
Sb=-8

ca—b=-14—(-8) =6




@ 5




5.

(1 2 = (x4 2= 1) = 6(y- 12 & Ao a2

@ (x+3y-1)(x-2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x-2y) @) (x -3y + 5)(x + 2y)
® (x=3y—-4)(x-2y+1)

B

x+2=A, y-1=B= A4

A2 - AB-6B® = (A +2B)(A - 3B)
={(x+2)+2(y-1)} {(x+2)-3(y-1)}
=(x+2+2y-2)(x+2-3y+3)
=(x+2y)(x—-3y+5)




(x* + 5x + 6)(x? — 3x + 2) — 252 & HF=A| Il gF

@) (2 + x+12)(x - 4)(x +5)

X2 —x+12)(x+4)(x-5)

X +2x-12)(x+4)(x - 5)

®© ® 0 ©

(
(
(x* = x=12)(x+ 4)(x - 5)
(
(

X2 +2x-12)(x —4)(x + 5)

~&B

(x% +5x+6)(x2 — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2) - 252
((x+2)(x = DH(x + 3)(x - 2)} — 252
(x2+x—2) (x2—|—x—6)—252
+x =12 2SI,

(t—2) (t-6) — 252

=2 — 8+ 12 - 252

= 1> —8r—240

(t+12)(z — 20)

(x% + x + 12)(x? + x — 20)

= (2 +x+12)(x—4)(x+5)

s




7. x=1+ V2L o, x> -2x-8 2] gr2?

x—1= 20|22

¥ -2x-8=(x-1)2-9
— (V22 -9
=2-9
=-7




Vx=a-1°]1,-1<a<3%9 W, Vx+4da+ Vx—4a+ 8 & 19|

sf?

® 1 @ 2 @3 @ ® 5

B

Vi=a-19 FHE AFA x = (a-1)2
Va? +2a+1+ Va2 -6a+9

= /(a+1)>+ /(a-3)?
—la+1l+a—3|

=a+l-a+3=14




=

T &4 g2 A2

oo

O P-x+2x-2=x-1)x*>+2)

@ xy—x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ 32(x+1)-4x+1)=(x+1)(x+2)(x-2)

@ab+1)-(b+1) = 1 -a)(1+b)

®ab+1)-b+1)=(a-1)(b+1)




10. 15x7.6%2-7.42x15 9] 322

@ 55 @45 @ 35 @ 15 ® 10

B

(#4]) =15 x (7.62 - 7.42)
=15x (7.6 + 7.4) X (7.6 — 7.4)
=15x 15X 0.2
=45




